HSC 2001 - Biology

Question 14
Question 14
14 How does immunisation against diseases such as diphtheria and polio limit the spread of
these infectious diseases?
(A) Immunisation kills the relevant pathogens.
(B) Immunisation suppresses or reduces the immune response and associated
inflammation.
(C) Immunisation strengthens first-line defence barriers and prevents the entry of the
relevant pathogens into the body.
(D) Immunisation reduces the multiplication of the relevant pathogens in immunised
hosts and this reduces the chance of other people becoming infected.
Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 7.3 6.6 7.7 7 4.9
B 16.4 7.4 5 1 1.6
Cc 53.6 42.9 20.4 4 0
D 22.7 431 66.9 88 93.5
N 0 0 0 0 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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